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MECHANICS 2 (2017/18 spring) | PROBLEM SET 8. |

1.) Feladat

A (nonrelativistic) particle of mass m and charge e moves in a homogeneous magnetic field B that
points in the z direction. The gravitational and electric fields are zero. The magnetic vectorpotential
is chosen to be A = (0, Bx, 0). (This is called the Landau-gauge)

a.) Write down the Lagrangian of the system.

b.) Show that the Lagrangian is invariant under the transformation x” = x, y’ =y, z’ =z + s.
Using Noether’s theorem express the corrseponding conserved quantity.

c.) Show that the transformation x’ = x, y’ =y + s, z’ = z is also a symmetry. What is the
corresponding conserved quantity?

d.) Consider the transformation x’ = x + s, y' = y, z’ = z. This Lagrangian is not invariant
under this transformation. Show that the change in the Lagrangian is a total time derivative
in this case. We know that the equations of motion are invariant, if we add such a term to
the Lagrangian: the transformation is a symmetry of the problem.

e.) Construct the corresponding conserved quantity of problem d.) To do so, we need to
slightly modify the derivation of the last Lecture.

2.) Feladat
M R An empty cilinder of mass M and radius R can easily rotate around its
symmetry axis. Within the cilinder there is a smaller ring of mass m
and radius r. The configuration of the system is described by the
angles o and f. The gravitational field is described by the vertical

vector g.
a.) Construct the Lagrangian of the system. Show that it reads as
2 2
3 L=mr2[d—“] +l(m+M)R2(%] -
dt 2 dt dt dt
+mg(R—r) cos[ m;_ Rp j + const.
—r

b.) Show that the transformation o = o + ¢, f” = [ + ¢ /R keeps the Lagrangian invariant.
What kind of ,,motion” is described by this transformation?

c.) Using Noether’s theorem, determine the corresponding conserved quantity.

d.) Determine the equations of motion for the system. Show directly, that the conserved
quantity derived in c.) is indeed a constant of motion.

3.) Feladat

Consider a particle in a central potential. The Hamiltonian of the system is:
2

H=L1v(@)
2m

a.) Write down the components of the angular momentum (L, L, and L.) using the canonical
momentum p and the position r.

b.) Determine the Poisson brackets [Ly,x], [Lx,y] . [Lx,px] and [Lx,py].

c.) Generalize the results of b.), so determine the Poisson brackets [L;,7;] and [L;,p;] for any i, j
indices.

d.) Determine the Poisson bracktes [L;, L;].

e.) Determine the Poisson brackets [L;, H] for any value of i. What does this tell about the
angular momentum?



4.) Feladat

Consider the Kepler problem that is described by the Hamiltonian
2

_pr <«
2m r

a.) Consider the following vector (it is called the Runge-Lenz vector)
A=pxL-mae,.
Express the components of that vector so, that only the components of the canonical
momentum and position vectors are used.

b.) Determine the Poisson bracket [4;, H]. What does it tell about the vector A?

c.) Using the conservation of A, derive the particle’s orbital.
To do so consider an orbital that is in the x-y plane and the vector A points in the x
direction. (We can always choose a coordinate system where this is true.) Express the scalar
product A ' r using polar coordinates (7,¢) and then using trivial algebra express the orbital.

d.) What does the direction of A mean? What is its length?




MECHANIKA 2 (2017/18 tavasz) [GYAK 8.

1.) Feladat
Homogén, z irdnya B magneses indukcioju térben m tomegl e toltési részecske mozog. A
gravitacios tér és a d(r) elektromos potencidl nulla. A magneses vektorpotencidlt A = (0, Bx, 0)-
nak vélasztottuk (Landau-mérték).
f) irjuk fel a részecske Lagrange-fiiggvényét!
g.) Mutassuk meg, hogy az x’ = x, y' = y, z' = z + 5 leképzés a Lagrange fliggvény
szimmetridja. A Noether tétel alapjan adjuk meg a megfelelé megmaradé mennyiséget!
h.) Mutassuk meg, hogy azx’ =x,y =y + s, z' = z is szimmetria! Mi a megfeleld6 megmarado
mennyiség?
i.) Tekintsik ax’ =x + s, ¥’ =y, z' = z transzformacidt. Ez lathatdan nem hagyja invaridnsan
a Lagrange fliggvényt. Mutassuk meg, hogy a Lagrange-fliggvény megvaltozasa ebben az
esetben egy teljes idoderivalt, tehat altalanosabban véve ez is szimmetria.
j.) Konstrudljuk meg a d.)-feladatban szereplé transzformdcidhoz tartozd6 megmaradd
mennyiséget! (Ehhez ki kell egésziteniink a Noether-tétel eldaddson szerepld levezetését!)

2.) Feladat
M R Egy M tomegti R sugart beliil iireges gytirti konnyen elfordulhat a
tengelye koriil. Benne beliil egy m tomegii r sugaru gyirt jol tapadva
gordilhet. A mechanikai rendszer helyzetét az o és f
szogelfordulasokkal jellemezziik, a rendszerre hat a fliggdleges g
gravitacios tér is.
e.) Konstrualjuk meg a rendszer Lagrange-fliggvényét! Mutassuk

; meg, hogy
2 2
Lzmrz(d—a) +l(m+M)R2(%] —er@%nL
dt 2 dt dt dt

ra—Rf

R-—r

+mg(R —r)cos{ j+c0nst.

f.) Mutassuk meg, hogy az o’ = a + ¢, f° = [ + ¢ 1/R transzformécid invaridnsan hagyja a
Lagrange-fliggvényt! Milyen elmozdulast ir le ez a transzformacio?

g.) Adjuk meg a b.) feladat szimmetridjabol kovetkezd Noether-féle megmarad6 mennyiséget!

h.) Adjuk meg a rendszer Lagrange-féle mozgasegyenleteit! Mutassuk meg kozvetlen
szamolassal, hogy a c.)-ben kapott mennyiség megmarad!

3.) Feladat

Egy tomegpont centralis er6térben mozoghat. Hamilton-fliggvénye az alabbi alaka:
2

H=L+v@)
2m

f) Irja fel a tomegpont impulzusmomentuménak L., L, és L. komponensét a p kanonikus
impulzusvektor és r helyvektor komponenseinek segitségével!

g.) Szamitsa ki az [L,,x] €s [Lx,y] Poisson zardjeleket, valamint az [Ly,px] és [Lx,py] Poisson-
zarojeleket!

h.) A b.) feladat eredményeit altalanositva szamitsa ki az [L;,7;] és [L:,p;] Poisson-zarojeleket
tetszoleges i-j indexparra!

i.) Széamitsa ki az [L;, L;] Poisson-zéarojelet tetszéleges i-j indexparra!

J.) Szamitsa ki az [L;, H] Poisson-zarojelet tetszéleges i-re! Mit mond ez szdmunkra az
impulzusmomentumro1?



4.) Feladat

Tekintsiik a Kepler-problémat, aminek Lagrange-fliggvénye
2

_pr <«
2m r

e.) Tekintse az aldbbi vektort (a neve Runge-Lenz vektor):
A=pxL-mae,.
Fejezze ki ezen vektor komponenseit ugy, hogy benne csak a kanonikus hely és impulzus
komponensek szerepeljenck!

f.) Széamitsa ki az [4;, H] Poisson-zardjelet! Mit mondhatunk ez alapjan az A vektorrol?

g.) Az A vektor megmaradasat kihasznalva fejezziik ki (a mechanika 1 targyon latott effektiv
potencidlos mdédszernél sokkal egyszeriibben) a kering6 bolygo6 palyajat!
Ehhez tekintsiink egy olyan ahol a palya sikja az x-y sik, €¢s az A vektor mutasson az x
iranyba. Fejezziik ki az A * r skaldris szorzatot az (r,¢) polarkoordinatak segitségével, majd
rendezziik megfelelden a kapott kifejezést és olvassuk le a palyat!

h.) Milyen irdnyba mutat az A vektor? Mit fejez ki a hossza?




